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CSci551: Computer Networks
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Project A

* project A phase 1 grades sent out
—20 possible points
—mean: 17.5, std dev: 2.8; median: 18

» class peer should now be up for all
phases
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Homework 1

* please remember to send in paper
summaries as they come due
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Homework 2

» homework 2 was posted Feb. 9
* due date will be noon, March 1, 2006
* bug in gl part i; fix posted on wiki
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Midterm

will be in different location
— location will be on wiki

in two weeks
first half of class
lecture the second half of class
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TCP Multiplicative Decrease

« after congestion
= Wiew =Wy /2 .
+ Wiis the conceptual window
- implementation of this is ssthresh,,,, = cwnd,,,/ 2
— cwnd,,, =1 [slow start]
— s it multiplicative decrease?
« whichisit? both
— short-term behavior: cwnd,,,, = 1
« stricter than halving the window
« why?
~ slow start will restrore us to equlibrium quickly
~ very conservative---need to account for delay in feedback
~ congestion (widrop tail rtrs) implies network buffers are full
~ want to give rtr buffers time to clear, get out of congestion
— long-term behavior:
« want multiplicative decrease
+ use slow start to get up to ssthresh quickly, then go to congestion avoidance
«long-term behavior is governed by ssthresh and cong. avoidance
— AND if fast retx and fast recovery work, you can actually stay at steady state
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Other Admin Questions?

® XXX
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